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8. What comes next?
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9. Which shape completes the triangle?
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10. The rope is as long as pencils.
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11. The glass is as heavy as marbles.
marbles glass
(1) 4 (2) 5
(3) 6 4 7 (
12
/\ s form the above shape.
(1) 6 2 7
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13.

If the apple weighs 3 units, how heavy is the orange?

(1) 2units (2) 3 units
(8) 4 units (4) 5 units (

14. Which is the tallest?
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15. Colour the 6th fish.
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17. 12+D=16
18. 19—D=15

19. 10 and 10 make [:J
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20. The number after 17 is D
21. The number just before 11 is D

23. Write a number sentence.

1B3:9,4, =
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There are

24.

squares in the box.
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25. What is this figure made of?

2 and 1

26. Fill in the blank with 'heavier than', 'lighter than' or
‘as heavy as'.

1 slice of cake is 1 lollipop.
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B

a)

b)

c)

Mug A

Mug B

Mug C

Mug B weighs
Mug C weighs

Mug

units.

_______ units.

is lighter than Mug A.
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28. Sarah found 9 seashells. Tina found 5. How many
seashells did the girls find altogether?
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29. Timis 12 years old. His brother is 4 years older.
How old is his brother?
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30. Rope Ais 13 mlong. Rope B is 4 m shorter. How long
is Rope B?
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Choose the correct answer and write its number in the
brackets.

OO OO OO

1st Egg A

EggAis the in line.

(1) 3rd (2) 4th
(3) 5th (4) 6th (

2. The word for 19 is

(1) ninety (2) nineteen

(3) nine (4) ninth (
3. 10 and 5 make D

(1) 12 2) 14

(3) 15 4) 16 (
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4. 1 more than 16 is l:l

(1) 18 (@ 17

(3) 16 4) 15
5.
(1) Amy (2) Steven
(3) Paul (4) Annette
6. 13 + 4 = D
1) 14 ) 15
(8) 16 4) 17
7 18w :] -6
(1) 3 (2) 4
@) 5 (4) 6
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